Tableaux des Puissances de Dix (I)

Multipliez le nombre de la rangée par celui de la colonne.
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Tableaux des Puissances de Dix (I) Solutions

Multipliez le nombre de la rangée par celui de la colonne.

X 0,01 0,0001 0,1 0,001
1,96 0,0196 0,000196 0,196 0,00196
3,83 0,0383 0,000383 0,383 0,00383
2,97 0,0297 0,000297 0,297 0,00297
9,58 0,0958 0,000958 0,958 0,00958
6,38 0,0638 0,000638 0,638 0,00638

X 10 000 0,001 10 0,01

5,2 52000 0,0052 52 0,052
8,03 80 300 0,00803 80,3 0,0803
7,02 70 200 0,00702 70,2 0,0702
9,15 91 500 0,00915 91,5 0,0915
4,81 48 100 0,00481 48,1 0,0481

X 0,1 1000 0,01 10 000
8,35 0,835 8 350 0,0835 83 500
3,77 0,377 3770 0,0377 37 700
1,62 0,162 1620 0,0162 16 200
6,45 0,645 6 450 0,0645 64 500
7,47 0,747 7470 0,0747 74700

X 10 0,001 100 0,0001
3,12 31,2 0,00312 312 0,000312
9,71 97,1 0,00971 971 0,000971

4 40 0,004 400 0,0004
1,72 17,2 0,00172 172 0,000172
7,03 70,3 0,00703 703 0,000703

MathsLibres.com




